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* Students from the Grade 10 Cohort can achieve high school completion status by a variety of means.
The majority are credentialed completers, earning a High School Diploma, High School Equivalency
Diploma (GED) or, in the case of students enrolled in Knowledge and Employability courses who satisfy
the requirements, a Certificate of High School Achievement.

Students who leave school without one of the above credentials but who have earned credits in high
school courses that enable them to continue into post-secondary or apprenticeship programs are
considered non-credentialed completers. Students who are not considered high school completers are

either continuers or leavers.




